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GSE Algebra ll Unit é — Statistics Practice Day

The study below is a randomized experiment. Describe the freciment, the freciment group, and the
conirol group.
12, An engineer wanis o know if a fuel addiiive will offect the fuel efficiency of a car. He recruits
40 volunteers and randomly assigns them to two groups. One group fills their cars with gas
with the additive. The oiher group fuels their cars with plain gas. The group inat uses the
additive sees a 5% decrease in fuel efficiency. . nt: mnerb

.?3_3_ » The Greup wlo I rectmant Group!
Goup’ Ful Adddive,\ | Poel Addihive

13. You have a sef of dala. The meaon of 1he Tata is 32 with @ stan n of 4. Find the
following probabilities:

N, o 284 rxaom
U\, ,025
b. P(X < 24)

c. . WF— P{ Xis at most 3¢)
p _wmul P[X <24 or X 2 36)
e. ..mM P24 < X <40)

14. The mean of a set of datais 51. A number X is picked at random and the probability thot
X 2 54is 16%. What is the standard Qmio&ww?& the daita?
) & i 1 N

a

- 5| 54

15. The mean of a set of data is 225. A number X is picked at random and the probability that

F=[©

16. The mean of a set of data is 225 and the standard deviation is 10, Find these probabilities:

o_all  pixz23)
b 23S  P(x<235)

= .M/..%c n.ln.m PIY=215)
op g =S  p205<x<245)
e. .mm[m P(X=2150rx2z245)

GSE Algebra I Unit 6 - Statistics Practice Day

17. The mean of a set of data is 51 and the standord deviation is 4. Find these probailities:

a. ...m%nﬁxwmﬁ b. .NNPP P (X <48)

& oO?@EXWuE d. b.M:m—._ . P(48 =X £40)

e. legwu_i X<£450rx=51)

Nor on Cuve

18. A group of 625 siudenis has a mean age of 15.8 years with a stondard deviaiion of 0.6
years. The cges are normally distibuied. \_.._bBrEbEEQm:_m are younger than 16.2 years?

JTUE o (2S5 = HGTIETS

e,

GS %_ﬁeLWw

Find the Margin of Error for a survey based upon the sample size, Round fo the nearest fenih of a percent.

19. 396 | l\l-..umw 20. 13,567
- H onw ONO

—_—

1
&)

Find the sample size required jo achieve the given margin of error. Round your answer to the n=arest whole
number.

"1 g5 ]l

Celi Phonas:  In a survey of 2,532 teenagers, 68% said ihal they spend 10 1o 12 hours a week on Twilter.

23. What is the margin of eror for this survey? Pound to the nearesi lenth.

T
V2532 INONO

24. Give an infervai that includes the margin of error,

mo Fowol. .NO@Q




